N of associated (recoToSim) looper tracks vs normalized x*

recoToSim) tracks vs normalized x?

[{

0 2 4 6 8 1012 14 16 18 20

[N o associated

malized X2

k vs nor

C|

[N of reco tra

track x?

berset

H
o
o
-
syoeJ) ayed||dnp
I o
N <
00 X
— O
s
© =
—
<
—
N
—
o
—
0
©
<
N
I o
N <
00 X
— O
IS
© s
—
<
—
o
o Bl
o
0
© ol
[==]
x
< a1
it :
R == -
] — H
A | i
< rud < 45 )
5 s | 5 5 g 39 8¢
syoeidny o] soen aniy’ oney
==
I o
N <
00 X
=G
S
© =
—
<
—
a
~
—
o
o
o
© .
@
2
< S
g
~ °
3
3
© - o
> 3 2 2
Z| syoen oney




	Contents
	Page 1


